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And let us warn them within the time of speaking

Overview

The %713 asked, why do we say that 1"¥ are not susceptible to a warning, but we
can warn them immediately after their testimony 712°7 >72 T, so they have a
chance to recant, and if not, they will receive mp . Our mooin clarifies why they
can recant.

mooin asks:
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And if you will say; how can they recant their testimony -
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For the warning takes longer that =13°7 >3, which is the time needed for

greeting, so after the warning, the time of M23°7 >7> has already passed, and they can no longer
recant® —

NID0IN answers:
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And one can say; as long as they are still involved in the same matter, this

whole time is considered 91297 975 70 -
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As the X713 states in m2» noon, that even if a hundred people testify, each one

within 912337 573, of his preceding friend’s testimony, all these witnesses -
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Are considered within the 91297 57> of the first witness, so therefore if one of
these witnesses was found to be a relative or disqualified to testify, the

' 112°7 >72 means the time it takes to say (*Wa1) *21 T2 017w [see 2,3V p"a]. Generally, within this time one may
retract what he said, but not after this time has elapsed.
2 See footnote # 1.
3 Why should they receive mpon, since the warning is meaningless, for they cannot recant anymore
4 In this case it means as long as the 1"y testify and are immediately warned (not to testify falsely), and they recant
immediately after the warning (even though this process [the warning] took more than 712°7 >3, nevertheless) it is
considered as if they recanted 712>7 75 710 of their testimony.
3 The rule is that if one of the @7y in a group (nd) is disqualified, the entire M7V of all the members of the group is
disqualified. One is part of the group if he testifies within 712*7 >72 of the other member(s) of the n3. In this case let
us assume that the fifth witness was disqualified. He certainly testified more than a 712°7 >75 time lapse from the first
M7y, nevertheless they are considered members of the same group and the entire testimony is disallowed. Similarly,
here, the %10 process does not violate the 712°7 *75 710 requirement for recanting. See ‘Thinking it over’.
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testimony of the entire group is voided.

Summary
The 712°7 >72 710 requirement does not begin until the entire process of testifying

and being warned is completed.

Thinking it over

mooIn proves from Ndn that the AXN7 time does not interfere with the 712°7 72 710
limit.® However, one can argue that the X3 in M2n is discussing testimony,
therefore it makes sense that all the testimonies are connected as one and the 70
727 >75 limit begins at the end of the entire testimony. However, here we are
discussing X707 (which is trying to negate the testimony); how do we know that
this too does not interfere with the 7210 1limit?!’

¢ See footnote # 5.
7 See R"aw17 1 (and X702 wITN).
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